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QUESTION 1

Given: 

and the code fragment: 

What is the result? 

A. 0 

B. A compilation error occurs at line n1. 

C. An Exception is thrown at run time. 

D. 2 

Correct Answer: B 

 

QUESTION 2

Given the code fragment: 

LocalDate valentinesDay =LocalDate.of(2015, Month.FEBRUARY, 14); 

LocalDate next15days = valentinesDay.plusDays (15); 

LocalDate nextYear = next15days.plusYears(1); // line n1 

System.out.println(nextYear); 

What is the result? 
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A. 2016-03-01 

B. A DateTimeException is thrown. 

C. 2016-02-29 

D. A compilation error occurs at line n1. 

Correct Answer: D 

 

QUESTION 3

Given the code fragment: 

List str = Arrays.asList ("my", "pen", "is", "your\\', "pen"); 

Predicate test = s -> { 

int i = 0; 

boolean result = s.contains ("pen"); 

System.out.print(i++) + ":"); 

return result; 

}; 

str.stream() 

.filter(test) 

.findFirst() 

.ifPresent(System.out ::print); 

What is the result? 

A. 0 : 0 : pen 

B. 0 : 1 : pen 

C. 0 : 0 : 0 : 0 : 0 : pen 

D. 0 : 1 : 2 : 3 : 4 : 

E. A compilation error occurs. 

Correct Answer: A 

 

QUESTION 4

Given the code fragment: 
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List values = Arrays.asList (1, 2, 3); 

values.stream () 

.map(n -> n*2) //line n1 

.peek(System.out::print) //line n2 

.count(); 

What is the result? 

A. 246 

B. The code produces no output. 

C. A compilation error occurs at line n1. 

D. A compilation error occurs at line n2. 

Correct Answer: A 

 

QUESTION 5

Which two code blocks correctly initialize a Locale variable? (Choose two.) 

A. Locale loc1 = "UK"; 

B. Locale loc2 = Locale.getInstance("ru"); 

C. Locale loc3 = Locale.getLocaleFactory("RU"); 

D. Locale loc4 = Locale.UK; 

E. Locale loc5 = new Locale ("ru", "RU"); 

Correct Answer: DE 
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